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1. List the first 6 multiples of each number.
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2. List the prime factors of each number.
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4. Use powers to write each number as a product of its prime factors.
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5. Determine the greatest common factor of each pair of numbers.
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6. Determine the greatest common factor of each set of numbers
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7. Determine the least common multiple of each pair of numbers.
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multiple of 12 and 14.
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9. Two marching bands are to be arranged in rectangular arrays with the same number of columns.
One band has 42 members, the other has 36 members. What is the greatest number of columns
in the array?
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8. Explain the difference between determining the greatest common factor and the least common
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10. How could you use the least common multiple to add, subtract, or divide fractions? Use this
strategy to evaluate these fractions.
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11. A developer wants to subdivide this rectangular plot of land into congruent square pieces. What
is the side length of the largest possible square?

" GCF = [fool
@ 24p0 3200 .
%B% >
6, &
S 3, A
Ahs i 77\2 Jowgwﬁ fasi/)/e Soumme With fla sida
{@V\@M of FO0m,

3| =

3
95T Ds-1gt




